FINAL TEST №1 (1-st Year of Study, 2-nd Faculty) без ключей (препод. Авдейко С.А.)
Task I. Agree or disagree with the statements. If they are true, put a tick (v), if they are false, correct them.
 1. The invention of the balloon is considered to be a great achievement for its time in regard to flight.
2. The aeroplanes made in the 19-th century had all the essential features of the modern airplanes.
3. Thrust is produced when the jet is ejected forward rather than backward.

4. While creating engines designers take into account, first of all, the high strength of the unit.

5. The fuel consumption of every engine must be high.

Task 2. Choose the right answer a, b or c. 
1. In comparison to a steam engine the internal combustion engine is

a) smaller and more expensive

b) smaller and lighter

c) smaller and slower.

2. Internal combustion engines are called so because the fuel is burnt

a) in a boiler

b) outside the engine

c) inside the engine.

3. Every engine is to convert the fuel energy into 

a) kinetic one

b) static one

c) propulsion one.

4. Engine must run smoothly and properly 

a) at high speeds and through all atmospheric conditions

b) at all speeds and through all atmospheric conditions

c) at supersonic speeds and through all atmospheric conditions.

5. Aircraft engine complexity doubles  every 

a) 5years

b) 15 years

c) 25 years. 

Task 3. Find the verbs that can not perform the function of the predicate in the sentence.
1. being asked 

2. has been stopped

3. be complaining  
4. is being designed

5. having written 

Task 4. Ask questions to the words in bold
1. K.E. Tsiolkovsky, the founder of cosmonotics, was born in 1857.

2. In 1885 Tsiolkovsky began to work seriously on the design of a spacecraft.

3. K.E. Tsiolkovsky formulated the basic requirements for rocket propellants.
4. It is considered that the Chinese have developed the first military rockets in the 13-th century.

5. Modern rockets fundamentals were established by K.Tsiolkovsky.  
Task 5. Choose the predicates in the Passive Voice.
1. is being tested

2. could have been designed

3. must overcome

4. have been installed

5. will develop

Task 6. Use the verbs in brackets in proper tense and voice forms.
1. Tomorrow you (provide) with all the necessary equipment.

2. A new ceramic material that shows remarkable resistance to high temperatures (make) already by researchers in Germany.

3. This ceramic material (use) in high temperature engines for aerospace and aviation due to its very high resistance to temperatures.

4. Since last year, this temperature level (rise) greatly.
5. Composite materials now (become) increasingly important.

6. Researchers (plan) to use two separate measurements.
7. The technique (allow) to provide with the necessary data for optimizing the design.

8. We (study) the property of this two metals for a week.

9. The experiment (finish) by 2 o’clock tomorrow.

10. You (manage) to talk to the chief yesterday?

Task 7. Use the adjectives in brackets either in a comparative or superlative form. 

1. This is the (good) designer I’ve ever met.

2. The frontal area of the turbine is much (small) than the frontal area of the compressor.

3. The (fast) you throw propellant out from a spacecraft , the (little) you need to execute a rocket-born maneuver.

4. Technological advances will make supersonic airliners even (efficient) than before.

5. Both in the world of science and everyday life the (important) achievements  of modern engineering are based on Newton’s law of motion.
Task 8.Substitute the Russian equivalents for the English ones to complete the sentence.

1. Turbine blade top speed determines the maximum pressure that (может быть) gained.

2. The power plant that has been recently installed (необходимо) examining.

3. You (cледовало) informed about this damage much earlier.

4. We ( вероятно) solve the problem soon.
5. This new class of materials (должен быть) commercially produced in a year.
